Find the sum or difference:
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1 (% + 5x% ~ 2x) + (B%* +73x + x%)
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Find the sum or difference:

1. (x* 4+ 5x2% — 2x) — (8x* + 3x — x3)

2. G+ m®) + (1 - 5w - Sm' 2. 3+ m3) + (1 - 5m3 — 3m%)
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Find the product Find the product:
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3. (Zn —~ 1)(5n _6n —7)
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3. (2n —1)(5n% — 6n — 7)

Find the product:

Find the product:

4, (2x + y)? 4. (2x +y)*
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Find the product: Find the product:
5 (x—15)3 5. (x —5)3
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Solve for x.

Solve for x.

6. 2x%* — 6 =30

Simplify:
8. —v48,  -M
(-

9. V=18 207
9.7

9. v—18

10. —3++V-36 ~2+bi 10. =3 ++v-36

Simplify: Simplify:

11. (24 —6i) + (+12 +20) 11. (24 —-6i) — (—12 - 2i)
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12. (8 —6i) + (=3 — 30)
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12. (8 —6i) + (=3 — 31)

Find the product:

13. —=2i(2 + D)(—4 - 3i)
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Find the product:

13. —2i(2 + i)(—4 — 30)




Simplify: Simplify:
L G I e TR =2(3)
14. 9% (}) ave g e 14 oi (1)
Simplify: Simplify:
4L (5-20) = -2014317 15 4
(54200 (5-21) Tgneioiani-w " 5+2i
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Given the complex numbers:

Z = —3+ 4i w=2+3i
Find:
16.z7 —3-4,

u P2 -
17. lzl *L\.ﬁ%ﬂw. = 5

18. 2z — 3w 2(-3rui) -3 (2120
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Given the complex numbers:

Given the complex numbers:
z=—-3+4i w=—-2-—3i

Find:

19. |3z — 2w|
3C-3+41) =2 («2-2))
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=SB

|

w=\ 344

z=-3+4i w=2+3i
Find:

16. z

17. |z]

18. 2z — 3w

Given the complex numbers:
z=—-3+4i w=-2-—3i
Find:

19. |3z — 2w]|




Graph the complex numbers:

20. =2
21. —8 + 4i
22. 60

Graph the complex numbers:

20. =2
21. —8+4i
22. 61

Using vectors prove:

23. 2 =4+ (54 2) = (7 = 20)

Using vectors prove:

; 23. 2—40)+ (5+20) =(7 - 2i)

24. Use the following graph to graph
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24. Use the following graph to graph
wi ¢

25. Use the following graph to graph
—Z + 3w

25. Use the following graph to graph
—z + 3w




